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civen the fellowikg national-inccma mods]

T‘E*I.*'E.u
C=a=+ bi¥y -T) {ax0, O<b<l) [T: taxes]
T = d + &% (d=m, O<t<l) [t: inceme tax rcate]

where ¥ 1 nationpal inceme, © i% consumptiot, I. +5 investmant
eupenditure, G. ias fovernmint eupgnditure, and T 1s taxes, L 1%
income tox rake.

& aguilibrium naticonal income 3, eguilikriun tax
el f;ﬁ?,tﬁnd Equilibrium consunption tﬂfﬁ,lrespact%v&ly. LS )
(by Find the gowe Funent-egpenditure multipd e, nonincone-tax
multipdier, aond lngome-tax rate mualtiplier, reapac§1v¢ly; {99 )
{c) It the above three multipliers, whicth one is %he biggest?
which one is the smallest. [ 2% 3

congsider the following vptimal allecation ¢f time model: (Ry tihe
1987 Hobel Econcmis Prize winwner, Gary Deckar)

Lssume youl ukility ie deriwved from the consumption process rather
than from the good itself =o that ¥our utility function is

Uik, , Ay) =3nthg) +ilnin,),

whare A; are the et of aptivities in which you wonsume the st of
unods G; . The ith actlvity raguiras & n; upitz of & goodd and t fhy
hours of tima, respectively, por one wnit of activity i. Rssume
thak there are only two activities and

n, =%, m,m6, h =2, apd h,=2.4

Lssume you are a workiny parent facing both time and finenclal
canetrainks. The total time available to You 18

T =W+ £+ k= 24

whaye W rapresants woTk, t, is the time you spend caring for your
children and howsehold, and +; &5 the time vou hove sxelusively for
yourself. Your Finsmelnl constraitt yeflects rhe saespuvmption that
your tokal income, wWW, ie speat on either good 1 or good % oas given

By
W = Pd v B &y

whera P, =3, ¥ =2, and w-5. Combining the time and financial
constrainka inko a4 congolldated copatraint that dafines the money-
ralue of total time and reweiting the conetraint in terms of
activities rather than gooda, we Lhave

wl =P n A+ Pnh,+ wh A+ whai,

fa)] Caleulate how muech time you would spand at work, caring fox

your howsehold, and pursuing your ocwn leisure actlvitilés given
POUY Eime constraint. tﬂ%‘]

(b SD%:E for G, and ¢, to detsrmine how your total incone 18 speot.
(35}

(o) Bupppsa that 2 naw, high-powered vacuum clesner thet dramatically
redoed the amownt of time you spent cleaning your house wag
inwvattad., Fredict the impact of this technologics) change on the
relative arguint of activity ht' (353

- (HBEERRE - FHD




YEES: ]

.

HrRAA® RAREARECD g s 3R
HEEBPEHRE ﬁ%iﬁﬁ%ﬁg{{gz;ﬁﬁiﬂ& i 5y

(d3

(e}

Suppose that, in yewr limltad free time, you decide to gat in
shape. Afeer months of going to gym, YoU can now kun 5 mites in
the same ameunt time that Lt wsed to take you to run 3 bilkes {a
dacrease in n, ). Fredict the impaet of this change on the relative
amount of activity &,. [ 3% )

SuppeSe YOUr menager gave you a significant raise. What is the
impact on cons@mptlon of A and A,, given that, inltially h, <h.?

T

3. What are the differences in geonomic thought Between Classical
Schosl and Koyrneslsn School? Pleage discuas how these differsnces

influenca govertment economic pelisies? {105} )




